log[sensitivity]
log - = —0,35Ly—u- ]2
logt- =log~ -0,35

flog[ , 1]
Ba

logLo = —0,35)—Us7

log =-0,35u\-u ]2

logLa=logLo+0,00

log =log +0,00
uy=(A—550)/50

570

EGETEGR]

L&B: 520

t<-0.04
520:
Lo=-0,35Lg=-0,%
60000 Ga=-0.%
Bo=-0,55 B =-0,%

495Ec  565EC

log[saturation]

logLo = —0,35u)~Us7d

log =-0,35u\-u ]2

logLa=logLo+0,00

log =log +0,00
saturation L

2uaptation
L&B: 520

495Ec  565EC

log[sensitivity]
log - = —0,35Ly—u-]?

600Ag/nm 700Ac 400

logLo = —0,35l)—Us7q

log =-0,35u\-u 12

logLa=logLo+0,00

log =log +0,00
uy=(A—550)/50

570

EGETEG]

L&B: 520

t<-0.04
520:
Lo=-0,35Lg=-0,%
60000 Ga=-0.%
Bo=-0,55 B =-0,%

495Ec  565EcC

log[saturation]

=-0,35b)-u--]?

=log~ -0,35
[Ga/Ga, LdGa, ]
Ba Go

600Ag/nm 700Ac 400

logLo = —0,35u)~Us7d
log =-0,35u\-u ]2
logLa=logLo+0,00
log =log +0,00

La saturation L

4

1
1520
Y70 !

1
)
/\ N 0,04

! 2uaptation
L&B: 520

1
1570 495Ec  565EC

600Ad/nm 700Ac 400

500

600Ag/nm 700Ac 400




